M; A=A %=(F.B.D.)

A T,,=6KkN, W=~ Wi

= /(=450 mm)* + (600 mm)* + 0 = 750 mm

)\AB:m( 4501+ 600])

= -0.60 i + 0.80 j
TAB: TAB)‘AB:(6 kN) (_O60i+ 080j)
= (-3.60 kN) i + (4.80 kN) j

dye = VO + (600mm)? + (—320mm)® = 680 mm

Ac = %(600 i - 320 k) = 0.8823 j - 0.4705 k

Tac = Tyo s = Tyo (0.8823 j = 0.4705 k)

dyp = V(500mm)? + (600 mm)® + (360 mm)> = 860 mm
Aip = %(500 i+ 600+ 360 k) = 0.58131i+ 0.6976 j + 0.4186 k
Tap = Typ dap = Tup (05813 i + 0.6976 j + 0.4186 k)

SF=0= TAB+TAc+TAD+W:O
SF, =0; (-3.60 kN) + 0 + 0.5813 T, = 0 - @D
SF, = 0; (4.80 kN) + 0.8823 T, + 0.6976 T,, -~ W =0 = @
ZFZ = O ; O - 04705 TAC + 04186 TAD = O : @
_ 3.60 kKN _
O = Typ = 0.5813 6.193 kN
® = Tyc= 04705 [0.4186 (6.193 kN)] = 5.509 kN

@ = W= (4.80 kN) + 0.8823 (5.509 kN) + 0.6976 (6.193 kN) = 13.980 kN
= W= 13.98 kN
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